Dear Dr. Rutkowska,

Enclosed is the revised version of my manuscript. The answer to the Referee’s comments and the list of the changes I have made are as follows:

1) Derivation of Eq. (3) is not clear and should be explained.

Although Eq. (3) looks complicated, the derivation is simple and straightforward. It is now explained in more detail in the paragraph preceding Eq. (3).

2) The second limiting case (ii):

How to interpret inequality Cg>>-1/L? What means that Cg is much greater than a negative value -1/L? Why we have in this case Lg approximately equal to 1/2Cg?

The Referee is correct: this condition is not entirely clear nor entirely correct. In fact, cases (i) and (ii) represent the two cases when one of the two terms of the reciprocal sum expressing Lg is negligible compared to the other. In case (ii), 1/L is the negligible term thus Lg will approximately equal to -1/2Cg (there was also an omission of a minus sign in the original manuscript). However, as both L and Cg can be negative, the correct condition for case (ii), as well as for case (i), should include the absolute values. The formulae are now corrected, and the above explanation is also included in the revised version.
3) Figures very similar to Fig. 1 were already presented in former papers of the author, e.g.   Ref. [9, 14]. I suggest to modify Fig. 1 to avoid plagiarism.

I have changed Fig. 1 as suggested.

4) It should be topography instead of topogaphy in the title.

This typo is fixed as well.

Sincerely,

Ferenc Riesz

Budapest, 27 March, 2019

